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69�n�=�=�Æ�Ú$_�A�̧ 	‹�‰+k"–"
73H��P 300Wh/kg�̧ �à)å�5
³

�P2000!W�́ 0.3C���@�C)½�{�t+k�̧ 100% DOD�µ�̧ �¿�ž�]Eô�f
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�´E¤!ø+k�p�b�‰�LE¤�»+k�p�D ��FU�ž,º�q�F�µ�&�r�Õ)½�ü�Ü�P

2.5kW/kg�´�P 30 0��µ�¸�&�rE¢.��ü�Ü�P 18Nm/kg�¸F�5#"
�Õ)½�P

1.8kW/kg�̧ �6Q��~)½�P 94%�̧ � �&�O
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315��D�ªEœ,ºLü�F
Â	oGƒ�=�Ð�¶�e�=�ªEœLü�F�D�6�‰	L�6�N�Ý�l

�¶�e�̧ �6
���+k�E$-
>�Þ�Ñ�Ž+^Eœ�>  

69�n�=�=�Æ�p+k6\
>315��p�æ�V�Þ�~)½�P 93%�Ç�ªEœ�ÖFU�,

L* 0-100km/h�O8 0��̧ 0-50km/h�O3.80��́ 4å+k W�E�µ �Ç52
>���ë4å

+k5#P¬H�0A�P70km�̧4å+k�Þ W�E�A+k6M�O15kWh/100km�Ç'ù"ï#¾

6MH��´�C
a+k73E¢	L,º'ù�Ï#¾ 6MH��µE¹1b
�Ll!ë"ï6ML†�r�´ GB 

19578-2014�µLƒ�„"
�Á�P 40%�Ç, �́¢H�52
>"ï6M�O 1.3L�Ç�6
� 1-2

!t�]73�t:•��	},º��+k /�Ô0A�E$-
>�Þ�Ñ�Ž+^Eœ�̧ �ªEœ�Ý�l315��Õ

73�¿�ž1•4Ý ISO 26262ASIL-C4Ý�̧ �ªEœ�Ô)æK6�d�P3000
&�>  

5.2 Q��]�-"
�|+^Eœ$-
>�Þ�Ñ315��6
��D�ªEœLü�F�´H��]�§

�]�©Kd�¶�e2±�µ  

.J0¬�»�ï�Æ�Â���p+k6\
>�©Kd�¶�e�=Q��~Q��Õ)½�ü�Ü+kP§�Þ

315��¶�e�=$-
>�Þ�Ñ315�Lü�F�¶�e.J0¬�̧ �6
�Q��~)½�=Q��]�-"


,º�|+^Eœ$-
>�Þ�Ñ�q�F�Ç�Â��+k"–4ú
�+k"–1×*<315��=�ªEœLü�F

�D�6�‰	L�6�N�Ý�l�¶�e�=Q��~+kLz�,315��¶�e�̧ �6
���+k�E /�Ô0A

�E�|+^Eœ�>  

69�n�=�=�Æ�ªEœ$-
>�Þ�Ñ W�E�A"ï6M�O 16L/100km�́ �� 12m

�ØEœ�p�Á�¸�c
3�®
Á���8���ë�µ �Ç	6FU���ë4å+k�Þ W�E�A+k6M�O

43kWh/100km�̧ 4å+k5#P¬H�0A�P50km�̧ �È�tEô�f
3�£�=�ü�>�ªEœ

�7�P(«�j�̧ �6
��C�G�Ä 2 !t��+k�E /�Ô0A�E�|+^Eœ�̧ �ªEœ�Ô)æK6�d

�P1000
&�>  
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5.3 �Ô0A�ž315��6
��D�ªEœLü�F�́ H��]�§�]�©Kd�¶�e2±�µ  

.J
��»�ï�Æ.J0¬�Ž+^Eœ�Ô0A�ž�I+ 
̂��Þ�pAôA×�D�Ý�l�=Q��~


�+k�p315��=�Ô0A�ž315�Lü�F1•�¶�e�Ç�6
��‰0%�E�="
"ï6M�„�=

52
>�~)½Q�,º�Ô0A�ž�I+ 
̂��Þ�p
Â�Ô0A�ž315��Ç�6�‹�ªEœLü�F�¶

�e�D�6�‰	L�6�N�Ý�l�¶�e.J0¬�>  

69�n�=�=�Æ�Ô0A�ž315�"
�Õ)½�P 0.65kW/kg�¸ �Ô0A�ž
��Þ�p"


"ï6M�O220g/kWh�̧ �Ô0A�ž
�+k�p315��6Q��~)½�P 96%�>�v�cE³�ª

Eœ�È�tEô�f
3�£�=�ü�̧ B (ì�7'ù�Ï#¾6MH��́ �C
a+k73E¢	L,º'ù�Ï

#¾6MH��µE¹1b
�Ll!ë"ï6ML†�rLƒ�„"
�Á�P 40%�>�Ô0A�ž315��cE³

�ªEœ�̧ �Ô)æK6�d�P 1000�•�>  

6. 4å+k�Þ�Ñ315�  

6.1 Q��]734å+k�ÞF��Þ
Á�P�Õ73"³Eœ�´ SUV�µ�6
��´H��]�§

�]�©Kd�¶�e2±�µ  

.J0¬�»�ï�Æ�Â��4å+k�Þ SUV �ªEœLü�F�¶�e�=�ªEœE±H�	L�¶

�e�=�ªEœ�¿�ž�]�D+k.÷�²�ï�]�¶�e�=�ªEœ)å�¹F8�Ê�]�¶�e1•�ªEœ

�©Kd�¶�e�Ç.J
��6�‰	LP§�Þ�D�V�Þ315��=Q�Lh�Ú�ž"J�O�Þ�Ñ+k"–

315��=�°73	L�ªEœ�Ý�l315��=�q4õ+k	Á 800�E��
),ºQ�	Á+k"J31

5��=+k�ÞE¢
G�D
�O¾�l�Þ315��=Q�73�~"
+k�Þ�í�Ì�6�‰	L0°B931

5�1•�©Kd�†315��Ç�6
��ž�æ SUV +k�Þ	L�Ë-�
��ªEœ�>  

69 �n �= �= �Æ4å+k �ÞSUV� ´EœKµ �P4.5m�µ � ªEœ+k6M �O

13kWh/100km�´���ë#��µ �¸4å+k5#P¬H�0A�P400km�´���ë#��µ �Ç
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0-100km/h�ÖFU�,L*�O 6 0��̧ �6Q�EœFU�P 150km/h�Ç�6�](b
—�Ü�P

45%�Ç+k�l�ÞLƒ�„+k73#¾6M"
�Á�P 25%!]#h��	p���ë �´ ECE���ë�µ �Ç

�{+k�,L*�O 20 �<JÕ�́ 30%-80%SOC�µ�ÇEœDá�D�Ë-�5	�ºE±H�	LEô

10%���@�´
B"
JØ5	�ºEœ
Á�µ �Ç�¿�ž�]Eô�f�c
3�æEœAú�-?ú0A

�´ C-NCAP�µ�Ê�U?·"x�Ç�l�Ð�q4õ+k	Á 800 �E��
),ºQ�	Á+k"J31

5�AôA×?ú99�> 

6.2 N2/N32±Q��]734å+k�Þ�|+^Eœ�Þ�Ñ�©
&�¶�e �́ H��]�§�]�©

Kd�¶�e2±�µ  

.J0¬�»�ï�Æ�Â��4å+k�Þ�|+^EœQ��~P§�Þ�¶�e�=+k"–315�Lü�F

�¶�e�=�ªEœ�°73	L�D�Ý�l�¶�e�=Q�	ÁLü�F�Ý�l�¶�e�=�@>û315��°

73�Ý�l�¶�e�=�ªEœE±H�	L�¶�e1•�©Kd�¶�e�Ç�6
� W
•	L�=31�M	L

,º4å+k�Þ�|+^Eœ�°73	L�Ë-��̧ �¬�Ê+ �̂ÄF�EÉ2±�= �’�P2±�Z0�Eœ
Á�Ç

��	}�ªEœ�¿�ž�]�=
%M–�]�=6F�{�]
Â)å�¹F8�Ê�]�Ç�Â���ªEœ,º�̄

H�	L+U�Ý��8°�̧ �̃ �F?ú W	L+U�Ý73�Ñ�>  

69�n�=�=�Æ4å+k�Þ�|+^Eœ�ªEœ 0-50km/h�ÖFU�,L*�O 15 0��¸

30 �<JÕ�6Q�EœFU�P100km/h�¸�6�](b
—�Ü�P 30%�¸+k�l�ÞLƒ�„+k

73#¾6M"
�Á�P25%�´ GB/T 18386�6�æ���ë�µ �Ç�ª�=C^H��D
B2±'ù

"ïEœ-."
�CQ��0 30%�ÇN2 F�EÉ2±�|+^Eœ�ž"J�O�́ )å�¹$_�Ü99
*

?¼-�-20℃�f 40℃�µ5#P¬H�0A�P250km�´ GB/T 18386�6�æ���ë�µ �¸

Ekg�O0.3kWh/�´ km·t�µ�ÇN3 �’�P2±�|+^Eœ�ž"J�O�´)å�¹$_�Ü99
*

?¼-�-20℃�f 40℃�µF�5#�’�P�,L*�P 8h�Ç�˜�F�ª+U�Ý73�Ñ�P 5000




